electrodrive systems

000 "54cC”

(495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

T [ II
25]]| 1 | il © OUTPUT
168 170 -
LD 205
LF " o AD
U L E
8|, 225 57,
5 | 60 J !
— 1 L3 o
H 3 [
.- o = — - b s _-—E-U -—- - X = €
A -
70 LD Laﬁ
150
LF
UF | :
2 = C 36U
mt | g D1|D2|D3|G|T|S
” I & & [Fa]130[165]200]11]3 5[ 11
. FB [180(215(250 (14| 4 |14
M..FD
MOEA M...FD M..FA
L1102 |ac|u|w|L | w|a|@m|F|@A| R |aD| R |aD
C362/3 [S1 |Mi 138 | 184 | 177 | 481 | 214 | 108 | 20 | 542 | 21 | 103 | 135 | 124 | 108
C362/3 [S2 |M2S | 156 | 193 | 186 | 509 | 226 | 119 | 23 | 580 | 27 | 129 | 146 | 134 | 119
C362/3 [S3 |M3S | 195 [212.5|2055| 553 | 236 | 142 | 28 | 649 | 33 | 160 | 158 | 160 | 142
C362/3 [S3 [M3L [ 195 [212.5[2055] 585 | 236 | 142 | 37 [ 676 | 42 | 160 | 158 | 160 | 142
C362/3 [S4 |M4 | 258 | 244 | 240 |693.5] — | 193 | 71 [8025| 87 | 226 | 210 | 217 | 193
C362/3 |[S4 |M4LC | 258 | 244 | 240 |728.5| — | 193 | 79 |827.5| 95 | 226 | 210 | 217 | 193
C364 |S05 [M05 | 121 |1755[168.5(509.5] — | 95 | 19 [5755| 20 | 96 | 122 | 116 | 95
C364 [51 |M1 138 | 184 | 177 |538.5] — | 108 | 21 [589.5[ 22 | 103 | 135 | 124 | 108
C364 [S2 [M2S | 156 | 193 | 186 [566.5| — | 119 | 24 |637.5| 28 | 129 | 146 | 134 | 119
C364 [S3 [M3S | 195 [2125[2055[610.5] — | 142 | 29 [7065] 34 | 160 | 158 | 160 | 142
C364 [S3 |M3L | 195 |212.5(2055(642.5] — | 142 | 38 |7335]| 43 | 160 | 158 | 160 | 142




000 “3/1C”
(495) 979-59-00

electrodrive systems

(901) 519-59-00
eds@eds-privod.ru

4
|

e

206

10 ha

=

Mi10w22

L
5 &

QUTPUT
170
205

154

A (B3}

i

M2 HD M

=

= Bl

& a N

= ™ EJ__‘(I fr’:__ :

il

N ’

M ET

N2

M1

INPUT

C36U
- p1[D2|D3[G[ T[S
s FA [130]165]200[11]3.5/11
FB [180]215]250[14] 4 |14
7] I b | M | Mt | M2 | N | Nt | N2 | N3| Ne | X | P | A
C 36 2/3 | P63 226 | 11 | 128 | 4 | 140 | 115 | 95 | — | Mex19 | 4 | 326 | 17
C 36 2/3 | P71 226 | 14 | 163 | 5 | 160 | 130 | 110 | — | M8x16 | 45 | 32 | 17
C 36 2/3 | P80 236 | 19 | 218 | 6 | 200 | 165 | 130 | — |M10x12| 4 |3455]| 18
C 36 2/3 |P90 236 | 24 | 273 | 8 | 200 | 165 | 130 | — [Mi0x12| 4 [3455] 18
C362/3 [P100 | 236 | 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 |3566| 22
C3623 |P112 | 236 | 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 |3565| 22
C 36 2/3 |P132 — [ 38 | 413 | 10 | 300 | 265 | 230 | 16 | 14 5 [3925] 25
C364 |P63 — | 11 | 128 | 4 | 140 | 115 | 95 | — | Mexis | 4 [3835] 20
C364 |P71 — [ 14 [ 163 | 5 | 160 | 180 | 110 | — | M8x16 | 45 [3835] 20
C364 |P80 — [ 19 | 218 | 6 | 200 | 165 | 130 | — [Miox12| 4 | 403 | 2
C364 |P90 — [ 24 | 273 | 8 | 200 | 165 | 130 | — [Mi0x12| 4 | 403 | o
C364 |P100 — [ 28 [ 313 | 8 | 250 | 215 | 180 | — |M12x16] 45 | 413 | 25
C364 |P112 — [ 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 413 | 25




electrodrive systems

000 “a24ac”
(495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

10 he

OUTPUT

208

M et laF
L s =
o e
o7t 1 sl —
¥ N[ =] NN, g
@,‘;—l".r_ f/l | = \h:_ = -
i ~J1.=r \ '\_‘11"2"_"' T
M2 I
" 86 |
150
g
C 36 U
D1|(D2|D3(G|T|S
FA |130(165|200(11|3.5( 11
FB [180)|215(250|14( 4 (14
. P &

_ Dol o mo MMz N[ NN N X ol @y B
C 36 2/3/4 | SKG0DA 102 11 12.8 4 82 75 60 | MSEx10 | 3.5 297.5 355 |16/16/19
C 36 2/3/4 |SK&0B 102 14 16.3 5 82 75 60 | M5x10 4 304.5 362 171720
C 36 2/3/4 | SK80A 115 14 16.3 5 a0 100 80 | Méx12 4 304.5 362 |18M18/21
C 36 2/3/4 |SK80C 120 19 21.8 5] 96 100 80 | M6x12 4 304.5 403 |18/18/21
C 36 2/3/4 | SK95A 130 14 16.3 5 102 115 95 | Ma8x12 4 345.5 403 181821
C 36 2/3/4 |SK95B 130 19 21.8 5] 102 115 95 | M8x12 4 345.5 403 181821
C 36 2/3/4 | SK95C 130 24 27.3 8 102 115 95 | M8x12 4 345.5 403 |[18/M18/21
C 36 2/3/4 |SK110A | 150 19 218 5] 120 130 110 | M8x12 5 345.5 403 |18M1821
C 36 2/3/4 [SK110B | 150 24 27.3 8 120 130 110 | M8x12 5 345.5 403 |[18M18/21
C362/3 [SK130A | 188 24 27.3 8 142 165 130 |M10x20 5 345.5 — 19/19

P -

{ . N Mt D E F G M| N |N1|N2 N4 | X 2/3x % Ax % m
C362/3/4 |SCG0A | MG 15Nm|102 | 7 125|125 |11 |82 | 75 | 60 [M5x10 |4 | 3245 382 1717120
C 36 2/3/4 |SCe0B ME 15Mm|102 | 7 |125(12.5 14 [ 82 | 75 |60 [M5x10 |4 | 3245 382 [18/M18/21
C362/3/4 |SC80A | M6 15Nm| M5 | 6 (12512514 | 90 |100| 80 |Mex12 | 4 [ 3245 | 426.5 |18/18/21
C 36 2/3/4 |SC80C ME 15Nm| 120 155|145 1775 19 | 96 [100| 80 | MGx12 | 4 369 426.5 |19/19/22
C362/3/4 |SC95A | M6 15Nm| 130 |16.5] 156 M7.75[ 14 (102|115 95 | M8x16 | 4 369 426.5 119/18/22
C 36 2/3/4 |SC95B ME 15NMm| 130 [16.5) 15 17.75/ 19 (102|115 | 95 | MBx16 | 4 369 426.5 |19/19/22
C 36 2/3/4 | SC95C ME 15Nm| 130 |[16.5) 15 (1775 24 |[102 [115| 95 | MBx16 | 4 369 426.5 |19/19/22
C362/3/4 |SC110A | M6 15Nm| 150 |16.5| 16 17.75[ 19 (120|130 (110 | M8x16 | 5 369 426.5 |21/21/24
C362/3/4|SC110B | M6 15Nm| 150 |16.5| 16 |17.75| 24 (120|130 (110 |M8x16 | 5 369 426.5 |21/21/24
C362/3 |SC130A | M6 15Nm|[188 | 19 | 16 |17.75] 24 (142 |165[130 IM10x20| 5 369 — 22/22




OOO \lancﬂ"

electro drive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru
C 36...HS
A BB
n 70 B E 150
B0 . LFa| F3 !
I~ N
™y ] | ™
& w el
| W . =
1 i
235 130 14 = OUTPUT
168 170 .
208
A
U | 70 B E 115
18, 225 |Fa| F3 95 17
| B0 ; F2 ha
Nl = _
ﬁ — - — E'—"—_T'_::— Jp— %_ = —_—— g E =
£ ] = _‘_,"' - o !
o) — 2 - [ ¥
m— = ) e
— INPUT
150
A
m 70 B E
AR 5 lFa) Fa
: - C36U
EE v S — - 8 N\ p1|p2|p3|G|T|s
o ‘ET ) ¥ FA [130[165[200] 11 [3.5[11
;F B <= " FB [180[215]250]14] 4 [14
L . 150
4| B A B E F F1 F2 | F3 | F4 v | @&
C362 4155 | 2055 | 50 24 27 8 25 45 | M8x19 | 255
C363 |HS 4155 | 2955 | 50 24 27 8 25 45 | MBx19 | 255
C364 3905 | 2805 | 40 16 18 5 25 36 | M6x16 | 26.5




